Rewview: MSaID
COMParison: 03 MZAID vz cortrol (random)

COutcome: 02 24 hours VA% pain zcores (0-10 cm)

Study MZAID Control WD (random) Wieight WD (random)

or sub-category M Mean (S0 M Mean (=0 95% Cl g 959 Cl

01 ZSingle doze regimen

Colguhoun 1z 4_&0(Z_&0) 14 4_4002.80) —F— 1.21 o.zo0 [-1l.84, E_Z4]
Fowwe 1z 3. 1af2. 200 1k 2. 70(2.10) —=— Z.67 o.40 [-1.24, Z_.04]
Yandermeulen ZEB 1.E0(1.80) ZEE 1. E0(E._00) # 2.7 Q.00 [-0.33, 0.33]
kunro 1ls 1 _E0l&_00) 1a Z_401(11.00) 0.30 -0.590 [-&_.57, 4.77]
Thomps=son 12 17001 209 1= 3.50{0_70) = o83 -1.280 [-z_.44, -1_1&]
DelDecker 35 l1.zo0l.3209 1k 2.e0(z_L0) == 3.E51 -Z.40 [-2_.74, -1_0g]
&lexander 36 1_E0fl_E0) 32 E.0001.70) — £.49 -0.50 [-1.21, 0.Z21]
Subtatal (95% CN 390 369 e a0_EF -0.75 [-1.81, 0O.11]
Tezt for heterogeneity: Chi* = 3383, df =6 (P = 0.00001), F = 82.3%

Tezt for overall effect £ =172 (P =0.09)

02 Multiple doze regimen

Hodsman ch E.30fE_E0D) 30 E.B0(Z.E0) —= 4._40 -0.50 [-1.&80, 0.&0]
=evaring z3 l.edi3.00) 1z Z2.80(a_30) — ] 0.26 -1. 20 [-4_.23, 1.83]
Feady 49 1. z2001l.e0) 43 Z_Z0(2.10) —=- 6.11 -0.20 [-1.&7, -0.13]
Fletcher 1 1E 1. 2a0lz._a0) 1k l.go(z.00) —— Z.43 Q.10 [-1l.54, 1.84]
Fletcher 2 15 1. z001.30) 1L Z2.30(Z._60) — 3.10 -1.10 [-z_.57, O.37]
Avbrun gy L.z003.00) zh E.en(3_Lt0O) —a— Z.20 -0_.20 [-Z.11, 1.K51]
Siclclik 1 20 2.200Z2_00) 20 F_Z00E.00) —a 3.86 -0.20 [-Z.14, 0O._.324]
Sidddik 2 13 l1.5ai1.30 z0 3.50(2.00) —— 4_ 53 -Z.00 [-32.05, -0.3%5]
Moy 12 l.200Z2.00) le Z.e0(Z_00) —— .48 -0.70 [-z_.0&5, O.&g5]
Hanna 4= g0z 10} £d 1002, E0) —= 4_93 -0.50 [-1.45, 0.43]
Hegazy 15 1.Z0(0._40) 15 2.20(0._50) L g.78 -1.10 [-1.42, -0.78]
Subtotal (35% CD 288 FEE § 4499 -l.00 [-1.2E, -0.7E]
Tezt for heterogeneity: Chi* =802, df =10 (P =063), F = 0%

Test for overall effect: £ =7.94 (P = 0.00001)

03 Cortinuous infusion

Gillies 38 AT N N C I 1= 3.70(1.70) — 4_ L4 -l.00 [-z.07, O.07]
Perttunen 15 Z.oz0ogl. 920y 1k Z.40(1._L0) —— 3.921 -0_.:0 [-1.432, 1.03]
Feady 45 1. 301 E0) 43 E.200(2.10) —= E.42 -0.5%0 [-1.62, -0.1%8]
Yarrassi 43 Z_5OfE.7 47 3.70(a_80) —&— Z2.83 -1. 20 [-2.77, 0_.37]
Etches 79 l.20il.20) 78 2.00(2.320) = 678 -1 20 [-1.8&, -—-0_54]
Subtotal (195% CD ZEE Z01 $ 2d. 48 -0.97 [-1.37, -0.E7]
Test for heterogeneity: Chif=211, df =4 (P=0721, F=0%

Test for overall effect: £=4.72 (P = 0.00001]

Total (95% Ch 203 835 $ loo. o0 -0.86 [-1.17, -0._E54]
Test for heterogeneity: Chi® = 54 48 df = 22 (P =0.0001], IF = 59 6%

Teszt for overall effect; £ =534 (P = 0.00001)
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